AfH

AL S I £ OUT |[IN GROSS|HDCP |NET |f§®
BEHFE =85 45 37 82 13/69.0 |S2 REWLTMILR
2 |kHW # 40 44 84 15/69.0 [S1 LU
3 |#EA F 40 38 78 8(700 |BG EHm™
4 |FL B 41 42 83 13|700 |&&H

5 |HElR f— 41 41 82 10/72.0 |S3 E#m™
6 [lUfz BE 41 43 84 12|172.0 |EWH

7 |BER HAER 42 42 84 12|720 |E&H

8 |BER #& 47 40 87 15|72.0  |REWH

9 |HEAR X 44 43 87 15(720 |E#h

10 [ILER &H 41 38 79 6(73.0 |/NEEBKEET
11 |[IFE F8 41 42 83 10{73.0 |BE™

12 |fAlR 43 40 83 10|73.0 |MWH

13 |HA #EX 41 41 82 8(740 |

14 |BH =it 43 42 85 11|740 |E&H

15 |=IE 5h 40 45 85 11|740 |EWH

16 |/NERE  {22BH 42 43 85 111740 |B#H

17 |FkL 5hE 45 43 88 14|740 |B&H

18 |SFR & 43 44 87 12|75.0  |#attH

19 |81 X 42 47 89 14|750 |E#H

20 |HEK = 41 46 87 11|76.0  |#atth




